Subject: Re: Weighted sample for recent birth
Posted by Janet-DHS on Tue, 19 Mar 2024 13:43:44 GMT

View Forum Message <> Reply to Message

Following is a response from DHS staff member, Tom Pullum:

It's good that you raised this question, because it relates to other potential analyses of the
pregnancy histories, not just table 9.2. The most recent birth is identified by bidx=1, and the most
recent pregnancy is identified by pidx=1, but for table 9.2 you need the most recent birth or
stillbirth. You need to construct another index, which | will call bsidx, which is limited to
pregnancies that end in a birth or a stillbirth. | will paste below the lines that do this. They
construct a new index that is based on births and stillbirths in the past two years and then select
for that index equal to 1. This gives 1949 weighted cases, as in the table.

Actually the match is still not perfect, because | get 1932.37 live births and 16.64 stillbirths, which
round to 1932 and 16, for the most recent birth/stillbirth, but table 9.2 gives 1933 and 16.
However, | am willing to say that rounding error accounts for this discrepancy of about 1/6 of a
case.

use "...NPNR82FL.DTA", clear

sort vOO1 v002 v003 pidx

egen bsidx=seq() if p32<=2 & p19<=23,by(v001 v002 v003)
tab m14 if bsidx==1 [iweight=v005/1000000]

tab p32 if bsidx==1 [iweight=v005/1000000]
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